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O RF,F2Pla,F3Pla TDC Tcal:Tcal run
0 F0-F2 TOF offset:A /Z=2 beam

0 F2SSD gain,offset:A /Z=2 beam
0240 beam PI:runl24

0230 beam PIL:run103

1 RF TDC Tcal(run199)

RF1cal [ns] = RF1raw [ch] * ch2ns

RF2cal [ns] = RF2raw [ch] * ch2ns
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0 1: RF1,2 TDC Teal



2 F2Pla,F3Pla TDC Tcal(run199)

TLcal [ns] = TLraw [ch] * ch2ns

TRecal [ns| = TRraw [ch] * ch2ns
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0 2: F2Pla,F3Pla TDC Tcal(Left,Right)



3 FO0-F2 TOF offset(run74,75)
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O 1: RIPSOO00OO0O (run74,75)
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Flight path Lengthm] | Bp[Tm] | vjcm/ns] | TOF|ns]
FO0-F1 10.38 2.3184 | 10.4791 | 98.9862

F1-F2 11.341 2.3279 10.5167 | 107.763
FO-F2(TOF O O0O) 21.721 206.749

0 2: 10 beam O TOF OO OO (run74,75)
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04 00RF1vsOORF2(000O0O0O0OORFIODOODOODOOOOO RF2000000)

TOF1=(F2-RF1)+offset1
TOF2=(F2-RF2)+offset2
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O 5: TOF1,TOF2 offset
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0 6: TOF(160)=206.7£0.42 ns (relative resolution=0.20%)




4 F2SSD gain,offset(run74,75)

dE[MeV] = F2SSD|ch] * gain[MeV /ch] + offset[MeV]
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0 7: F2SSD calibration(A/Z=2 gate)
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5 210 beam PI(run124)

run | beam | OO 00O Bp 1l | F1slit degrader FIPPAC | Bp 2 | F2slit
mm] | [Tm] | [mm] | [mg/cm?] [Tm] | [mm]
124 | 220 | Belb | 3.9916| 72 | Al426(#3) in 37773 | 15
O3 RIPSOOOCOOO
A=-F1X/dis (0000000 dis = 24mm/%)
Bp = Bpo(1 + A/100)
FLO2
=——— (FL02=21.721
TOFozx ¢ M0 721m)
AMU x
w = AMUX 5 (Atomin Mass Unit = 931.488MeV/c?)
V1— 32
1 2mec? 32
e L [ (222) )

goo

I(1-32)
2mec® 2% 0.511x 10°

I(Si) 172.25
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dEgsp
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= 5933.2
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0 10: Z,A/Z calibration




! 0 5 ? ] 165
ENTRIES 341020 ENTRIES 29357
10.0 333, 175. .00 | 000 | 0.00
498: [-9343E+067 |- 0.688E+05- 1 X 102944057 X
00 [ 0.352E+04 0.253E+05 .00 | 000 ] 0.00
10
8
7
2 3 32 33 a4 Y ¥ 31 a2 33 34
Histogram ID = 159 Histogram ID = 165
A/ZvsZ A/Z vs Z (240 gate)

0 11: 22O beam Pl(after calib) purity=1211172/14112063=8.58%

0o count purity cps

all 341020 | 100.0 | 36.4cps
220 | 29357 | 8.61% | 3.14cps
20 17977 | 5.27% | 1.92cps
20 2377 0.70% | 0.25cps
22N 14880 | 4.36% | 1.59cps
2IN 10726 3.15% | 1.15cps
2R 1704 0.50% | 0.18cps
26F 60129 | 17.63% | 6.43cps
2F 63288 | 18.56% | 6.76cps
28Ne | 25063 | 7.35% | 2.68cps
2TNe | 2458 0.72% | 0.26cps

0 4: 220 beam(only run124)

all event | 220 gate
BEAM 341020 29357
BEAM+NEUT 7311 736
BEAM+Nal 7222 661

0 5: 220 beam(only run124)
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0 12: 220 TOF (NDC target size gate=¢40mm, F1X gate=+2.4mm(AP/P=40.1%) )

p (ns) | 1o (ns) | relative resolution
187.43 | 0.52197 0.278%

0 6: 220 TOF resolution
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6 >0 beam PI(runl03)

run | beam | D000 Bp1 | Flslit | degrader | FIPPAC | Bp 2 | F2slit
mm] | [Tm| | [mm] | [mg/cm?] [Tm] | [mm]
103 | 230 Be 1.5 | 3.8232 72 Al 426(#3) in 3.6084 15

0 7: RIPS parameters

I made PI figure in 220 beam run using calibrated Z,A/Z in O beam run. I gated 6.5
<Z<75and 2.81 < A/Z < 2.94 as 230(Z=8,A/Z=2.875).
Table.8 is main nuclei’s information of purity and count rate (BEAM=1520404 counts[ live
time=3602.168sec).
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0 13: Z,A/Z calibration(using same parameters with 2O beam run)
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O 14 O beam Pl(using same parameters with O beam run)

purity=1093826,/15239368=7.18%

nuclei count purity cps
all 1520404 | 100.0 | 422.08cps
0 2884 0.19% | 0.80cps

230 90816 | 5.97% | 25.2cps
220 100343 | 6.60% | 27.9cps

2N 359 0.02% | 0.10cps
2N | 88922 | 5.85% | 24.7cps
20N 9789 0.64% 2.72cps
2R 4530 0.30% | 1.26cps

25F 236533 | 15.6% 65.7cps
AR 206982 | 13.6% 57.5¢cps
28Ne 1776 0.12% 0.49cps
27Ne 23065 | 1.52% | 6.40cps
26Ne 45318 | 2.98% | 12.6¢cps
2Na, 3593 0.24% | 1.00cps

0 8: 230 beam run(only run103)
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all event | 220 gate
BEAM 1520404 90815
BEAM+NEUT | 24757 1820
BEAM+Nal 29266 2165

0 9: 20 beam run(only run103)
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